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TIME, SPEED and DISTANCE is divided into
following 04 parts.

TIME & DISTANCE/ |Hd 37T g3t

TRAIN/ IcTTSt
RACES & CIRCULAR MOTION/ T8 31X g=ita 7fd

BOAT & STREAM/ T 31T &I



~ SPEED/dWTd

The speed of a body is defined as the
distance covered by it in unit time.

THIE AT W 99 W T T H O FEd 8

{ Basic Formulae }

Distance {'ﬁ
Speed = Time /A =

Distance I
/A = —S—
Speed =T
Distance = Speed x Time
g = AT x WHY

Time =
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Two frineds left Delhi for Goa at 5 a.m. One
friend who went by train reached Goa in 24
hours and other friends who went by
Aeroplane reached in 3 hours.

3t firr fareeht & T @ foru qaty 5w P &
U T et | 24 92 W 30T gE 7Aoo
3 W  Tar ugear gl

We know that speed of aeroplane is more

than train so time taken by train is more
than that of aeroplane.

TH A & Toh 2a18 ST i =Tet Tormet § atfies
Bl T1 ZHfU TS gRT gaE WaTH | i wea

ferar Tm
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It can be infer from above explanation that

Speed < = (When distance is constant)

Tim

3 . 1 .
Iqgad | 9% wWe ¢ T = i (sl gh
fraa )
If two athlete run for constant time then

distance covered by the athlete whose speed
is more would be more.

afg @t aras Framm wug & fau &g @
el atfaer Bt @ stfue g @ wm

It can be infer from above explanation that
distance « time taken (when speed is
constant)

Iudaa faaror 4 we ¢ &
T o fora M wua (va we faa )



[ Units of Measurement/d1q & | }

¢ Time is usually measured in second (sec),
minutes (min) or hours (hr).
UG @ WETEE: Wehe, fuae stgar 92 o wua g
e Distance is usually measured in meters (m),
kilometer (km) or mile, yards or feet.

A ol wuTad: det, feerder, oo stgar are o
uTud g

e Speed is usually measured in km/h, mile/
hr or m/sec.

ST ahl GTaT=ad: et /92T, Ute /92T 319ar °l /Ahs
4 urad £
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[ Conversion of Units/ el 1 ®araor J

1. 1h=60min=60 x60 =3600 sec.
2. 1km=1000m

3. 1lmile=1.606kmor 1 km=0.6214 mile of
S mile = 8 km

4. 1yard=3ft

S km/hr=a x ke
. a /hr = a 60x60m/sec
-
=a lsmsec
/ - x60x60 /hr
am/sec=a 1000 km
18
=ax — km/hr

S



EXCERCISE



' BASIC QUESTIONS

01. Dimple is travelling at a speed of 90 km per
hour on a highway, while Sachin is travelling
at a speed of 108 kim per hour. What is the

difference in their speeds, in metres per
second?

feus us TsuT 9T 90km/h H WA W ATAT W
el &, Wafes Afeq 108km/h & AT H ImaT HT
TET B WeT ufqd A o, 39 = o 37aT i MOTAT
g

SSC CHSL 09/08/2021 (Shift-01
(a) S (b) 6
(c) 4 (d) 3
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02. A man runs 200 metres in 24 seconds. His speed is:

Ueh 3EHT 24 sec § 200 m SISdT &1 SHaht Tifa AT
Cais g

SSC CHSL 02/06/2022 (Shift-03)

(a) 30 km/h (b) 32 km/h
(¢) 24 km/h (d) 33 km/h
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03. A car covers a distance of 90 km in 50 min.
What is its speed (in m/s)?

U &7 50 fe ¥ 90km i It 79 HIAr T THHI
fa (m/s ®) &= 87

SSC CGL 19/04/2022 (Shift-02)
(a) 30 (b) 90
(c) 108 (d) 60
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04. An athlete crosses a distance of 3600 m in 12
ez D minutes. What is his speed (in km/h)?

T .
5 Bifian U Ugeie 12 fE 4 3600 m &t g 99 FAT 2

1% min 3H&! AT (km/h H) @ 2
= Beppx1e 7 SSC CHSL 07/06/2022 (Shift-02
AR = a) 15 (b) 17

- 18 (cy18 (d) 16
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05. The speed of a train is 108 km /h. The distance

D= Sx« covered by the train in 11 seconds will be:

_lexs_x“ H,Eéflﬂ?ﬂﬂ 108km/h‘%l€ﬁ‘l1‘ﬁ$ﬂgﬁw
& i 7 Hi?

= 330

SSC CHSL 26/05/2022 (Shift-02
(a) 620 m (b) 540 m
(c) 440 m \(9Y 330 m
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4
i: 2km|h
O

(
MX’S-HQ_: zj.sm’s S

06. Which of the following is NOT a correct

statement?
faofafaas O 9 #Fr=9-9r 98 F:99 T8 27

(a)

SSC CGL 05/12/2022 (Shift-03)

he speed of 20 m/s is less than the speed
of 85 km/h.

20 m/s % = 85 km/h & 9 H HY 24T 2

T= 10 \(y/l'ime may be calculated by dividing the

distance by the speed.
g & ue 9 fawrfsa & @ua & o
T AT "Rl B

Sz::l (c)y Covering the same distance in lesser time

Ty

x

implies a higher speed.
&W W9 ° WU g d9 &I & A9 § T
el

The speed of 99 km/h is less than the
speed of 24 m/s.

99 km/h & =& 24 m/s & = 9 FY BT 8
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07. A lady walks to her office every day from home

and maintains a fixed time for the same. On

one day she decreases her speed by 25%. By
what fraction of her usual time will she be late

on that day?
U ufgen wfafes =¥ ¥ U+ waed U9 et
fardt uar fa= a8 310+ =ITer W 25% W T AT T
39 fa71 39 v = wua & f&a 91 (fraction)
e AT gI?

\()/1/3 (b) 1/4

(c) 1/6 (d) 2/3
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t-
D> ConS Vel New 08, If Ram covers a certain journey at 60% of his

; 0% 5\y0ld usual speed, he reaches the destination late
MHis usual time (in min) to reach
the destination is:

H@i@ gfe T ua fHfy=@ amEr 19+ 9= =re &t 60%
( unit:'sminamﬁaam%,zﬁag36ﬁ1=|zaﬁéﬁﬁm
U Ugddl g1 Maed 9 Uged H ST WU HUd

>4y (fire &) &1

SSC CGL 01/12/2022 (Shift-04)
(a) 60 (b) 72

(c) 50 \(9y54
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107. :-J% 09. Rajdhani Express leaves, Delhi station one

and half hour late and increases its speed
by 10% and reached Patna on Scheduled
S» lo: !l time. Find usual time taken by train to
T l1x]0 reach Patna from Delhi.

\CM,C_ ovein  TToETl UFEUH faeelt ® wewm & fow 4 wer 30
fae 2 | Fraowt § ofw oot =mer § 10% &

3,390min afg @& wew fagifia woa w wgedt &1 2A
T el gt faeett | vz ugeH o fomr mar wmr wug
2 By & ElcicAE

(a) 16 hours (b 16l hours

2

2 1
(c) 165 hours (d) 125 hours
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-2
10. A train reduced its speed by — of its usual

/—7'15

speed and reached certain destination 3
hours late. Find present time taken by
train to reach destination.

@Waﬁmwﬁgm"raﬁraﬂﬁ
ﬁwﬁﬁwmmwsﬁw T |

Ugedl §1 IeTMEt GET Taed T deh Uged W
feran T adu™ wua J@ wifan
(a) 7 hours (b) 8 hours

1 1
(c) 65 hours \(H 75 hours
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Shatabdi Express left Delhi 40 min late.
After covering half of the distance it

1
increased its usual speed by 6 of original

speed and reached Chandigarh on
scheduled time. Find usual time taken by
Shatabdi Express to cover complete
journey.

vt vaaud faeet | 40 e &t 2@ 9 fanewt
g1 et N AW wHA & W TAT AT WHTA

" < - P T |

e ® o g &l & 3w =gme fagifa
Oug 9 Ugd Wl &) SYUT Amr o vl Uadud
BT forar & | 9ua 7| iAo

(b) 520 minutes

(c) 540 minutes (d) 420 minutes
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‘&gﬁ_jﬁ D:qSX"t

12. A car takes 50 minutes to cover a certain

_WS#:‘-{SILM distance at a speed of 54 km/h. If the speed is

increased by 25%, then how long will it take to

27 S
New Speed - SAX 1287 cover three-fourth of the same distance?

S

" grc &g &, 54km/h & =1 | Tt ffvem gft = 50

\-—__.-6

A2
iz # 7w B A e 2sx @ gty A E, A
t=D -

Ysxa-: N W IR &® 3/4 9 H R W | q9 w07
-E_s_&_l SSC CHSL 12/08/2021 (Shift-03)
—— (a) 25 minutes (b) 35 minutes

X
- *Lh'r \MSO minutes (d) 40 minutes
> <
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Q57 3% iql— 12. A car takes SO0 minutes to cover a certain

o N
S» 4 :
T 5.
\C.J
Somin kL{Omm
ang= Aox3_
X

distance at a speed of 54 km/h. If the speed is
increased by 25%, then how long will it take to

cover three-fourth of the same distance?

s &, 54km/h &t o1 ¥ fodt Ffvea g8 = 50
e o ag @t 7 afe = o 25% @t gfg g g, A
& 39 i &_3/4 9T Al foRas wHa o a9 wi?

SSC CHSL 12/08/2021 (Shift-03)

(a) 25 minutes (b) 35 minutes
\MSO minutes (d) 40 minutes
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13. If a car increases its speed from
24 km/h to 40 km/h, it would
reach certain destination 1

__~1-shv_hours early. Find the distance.

OShy dAfd I HIT U oA 24 Tt/ =2 |

it 2 L QT 40 Tt/ g2r &t 2 a a8 3

D= Quyo Taeq T U7 1 92 Ugel Uge St g1
S OT%OX[s |
= Sm oy gogy T P

\(3) 60 km (b) 48 km
(c) 72 km (d) 54 km
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old New 14. If a train reduce its speed from 70

& & km/hr to 62 km/hr it would reach
29 35 : 3l certain distance 1 hour late. Find the
T> 31 35 distance covered by train.
. gfg @iz ITenmsSr At wre 70 Tt Ee |
4unit = Lhy . _
AP ety Wezﬁﬁmwéﬁruﬁmﬁw
L T UT 1 "2 @l a9 | Ugeil Iemst g

QY w70

- D=Yeoxa) (a) 540.5km (b) 535.5 km
- S . .

Ao % (9] 542.5km (d) 545.5 km
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60 /-:-%%% 15. Walking at 60% of his usual speed, a man
reaches his destination 1 hour 40 minutes
O N late. His usual time (in hours) to reach the
S g 53 destination is :
Ly,

~——~ So HUHT WHT AT i g U 60% O W e
\C/ﬁ“"’“ﬁ'm‘“ TU U afad 3109 Tided e w1 6 40 fue
1S0min @t 37 | UEear g1 Tded e 9 Uged W 3SH
TR ATeT WA WU (92 W) ¥

Qng =
N %%.52_:2.?& SSC CGL TIER II 13/09/202019
1 1
a 25 (b) 22
1 1
(c) 3'8' (d) 32



%/* @nin

| S0

0.7z 306 min
)/
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15. Walking at 60% of his usual speed, a man
reaches his destination 1 hour 40 minutes

late. His usual time (in hours) to reach the
destination is :

AU WET A & g 0 60% 9T H wed
TU Ueh SAfad 3109 Taed e o 1 92 40 fu=e
@t 37 | UEear g1 Tded e 9 Uged W 3SH
TR ATeT WA WU (92 W) ¥

SSC CGL TIER II 13/09/202019

1 1
\1;1/25 (b) 22

(c) 35 @ 3,



> @ G0
Lunit = 1pmn

Yomin




O. m min T

0.T- %GOmm N-T :g S0 MmN
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VAEF

A takes 2 hours 30 minutes more than B to
mo(d) A(New) walk 40 km. If A doubles his speed, then he
can make it in 1 hour less than B. How much

time (in hours) does A require for walking a
40 km distance? Q-Shy

qu m 40kmafr§g“aum-3rﬁAaﬁBﬁ
_ Aferes #Td €1 afg A 379+ =ITer SR ehiar g, af
- R4Sy 9% 39 B H_1 92T H 9T W 99 T Hahdl g1 A g7
*\?'S\hv 40 km F I 77 FIA § 0H AT HEG (92 H)

. :
< % U"-—"é— SSC CPO 23/11/2020 (Shift-O1

"c';“t“’fh \15“/ 7 ~ (b) 5

(c) 6 (d) 9
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A man go a certain distance with x km/hr
and comes back with a speed of y km/hr.
If he takes t hour to go and come back.
Find the distance?

U 3mEdt x fadi/ger & wg uw ffvea @
T T § 3 y Tamddt g & wfa | aud e
21 gfg 38 W 3T a9ud 3 H t "I T g
AU IREC DI E L

Then distance /311 = [ =~ J" t

X+y
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2l
17. A boy goes to school at 3 km/hr and return
/j;-\— at a Zpgeed of 2 km/hr. If he /takes S hours
By h in all find the distance from his village to

school.
D=_xy x+ UF wgHl 3 fadi/ger @t nfa ¥ wher A #
Ox4y) 3T 2 faddt/ger &t nfa | amgw aer 81 afs =g
- 2x3x% el faerat 5 92 oar € A IHe Wa ¥ el o
g g1 FTd it

(a) S km \(Mkm

(c) 7 km (d) 8 km
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1

B oAy X ¢ 18. A student goes to school at a speed of 55
(x+Y) km/h and returns at a speed of 4 km/h.
A
- _‘_—"'?,LX# X _IB_ If he takes 4% hours for the entire journey,
o
(—E_'I-Q) then the total distance covered by the
1 student (in km) is: _
:&"S/%{X% @mszﬁﬁrm#}?ﬁﬁwm%ﬁn
|

4 famdt izt =t nfq | aow amer & afE =@w g

AN A b o B
umﬁ4za%mt.mm§mmﬁﬂéﬁ¥ff

it (ot o)
\er 11 (b) 22

(c) 16 (d) 24
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A man go a certain distance with x km/hr

and he comes back with a speed of y km/
hr. If he takes t hours more to come back

than go. Find the distance.
U EH x Todt/ger & wg uw ffyea g6
T HIAT ¢ W a8 y Tt dger & wfq |9 amus
AT ¥ Afg 98 T H a9 39 ° t 9 3fee
ST 81 gAT T a1 T
Then distance /i1

= {xxnyx (difference between time)
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2 The difference between time can be solved by

the following tricks

HUT & 3fav i faefafaa arwa 9 g famar o

H&Hdar &

Same important cases in speed

2
Ealxgy, early case 12 (subtraction)
Late, La2te case © '~' (subtraction)

]
Eal?ly, Late case 30 '+ (Addition)
Late, Eatly case 32 '+ (Addition)
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-y

19.

A man when goes to his office at the rate
of 24 km/hr, reaches 10 mins late and

when he goes by 30 km/hr, he reaches 20
mins early. Find distance of the office?

U sHfad W& 31U SNifeR 24 _fadt /=2 &t =me
H W % oAl a8 10 fume 2% § ugwar € 30N
wa 30_fwdt/ /g2 &t wer | War § o g% 20
foe weet atffhm wdwr wmar &1 siifew @t @

\Ja] 60 km (b) 55 km
(c) SO0 km (d) 65 km
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D =_2Y xt 20. Ramesh drives from his home at a speed of

COMPLETE |\ V:¥ ¥ s Ny COURSE (For all govt. exams )

%-Y 40 km/h and reaches his college 25 minutes
_ m 50 X.J& late. The next day he increases his speed
T 15 60 by 10 km/h, yet he is late by 10 minutes.

How far is his college from his home?
THYT 3709 =7 H 40 km/h & ST& § TS =TT
£ 3 25 fume 39 A U wierA UgHar g
I 27 g 3rudt MET & 9 10 km/h
ael 3d1 g, Trr off et ug= ° 39 10 fuse
&1 2T BT ATl E1 SHRT HiciA IHeh UT W
faa=t 27 87

SSC CHSL 24/05/2022 (Shift-01)

\1{50 km (b) 55 km

(c) 45 km (d) 60 km
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If Raman drives his bike at a speed of 24
km/h, he reaches his office S minutes late.
If he drives at a speed of 30 km/h, he
reaches his office 4 minutes early. How
much time (in minutes) will he take to
reach his office at a speed of 27 km/h?

gfe o9 319 =AEF 24km/h T ATA T TEATET
£, 9 9% UN WO ° 5 fowe @t 239 A
ugear %1 Ife 9% 30km/h H I H AZH
T g1 At 3uA e 4 foae uge uge
HATEAT TINTE 27km/h S 96T § 304 HFTD
% Ugod ° ferar wua (fo=et &) wm?

SSC CGL 20/04 /2022 (Shift-02)

\(«f 40 (b) 55

(c) SO (d) 45
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= Ay X OHt 21. If Raman drives his bike at a speed of 24
D=_%Y_ P
(X-Y) km/h, he reaches his office 5 minutes late.
_ - If he drives at a speed of 30 km/h, he
WUKST X_I P
50 2 reaches his office 4 minutes early. How
& y
much time (in minutes) will he take to
= reach his office at a speed of 27 km/h?

7 Kmlk 18 Kkm gfg THF 31U AEeH 24km/h T T H SFAATA]
§, @ 9% U WA § 5 fume @ 39 A
ugadal €1 afg 9% 30km/h W TG W AEH

36kmih ST T g1 At 3uA e 4 foae uge uge
qskmlh A AT FNEE 27km/h & STA T IUA FHAED

AXS )‘erm % gy # fA W (e #)
SSC CGL 20/04/2022 (Shift-02)

\(«f 40 (b) 55

(c) SO (d) 45
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D=%Y x Ot 22. A boy when goes to his school by 12 km/

-yl hr speed, reaches 20 mins late and when

— (2XEXAZ he covers the distance by 16 km/hr,

4 60 A reaches 5 mins late. Find speed by which

e he may reach on time and also find
= distance of his school

'krz:’%, 4 houy Uch tishl mh2 Eai 2 |t =Tt | 370 el

| m%mazzoﬁﬂzw%nuw‘%am
&Gﬂﬂl‘hm: 60 -20 = 4omin aaagaﬁangLﬁﬁmaﬁWme

$=L§XQ53 ¢ @ 5 fae &t I | ugwar ®) Fw = AW
Serp = \Skmj, Fifew e aw W@ WA w W@ v w5
@i I 9 FTa iUl

(a) 16 km/hr, 12 km
\b) 18 km/hr, 12 km

20 km/hr, 10 km
15 km/hr, 10 km



8-

12 km/h
_J6 kafh

Qo min (ol

So min early
~

Find (@ Distance

tig= 232 Zhour =120 min

- REEX&M (DA ckus Fieme < 1401y

. 30Xz
)



In this variety, changes in speed are given
and accordingly changes in time are also
given.

TH UK & WYl W oTel °§ uiiads faar gar & of
IH& AR A0 ® qftads o faan g 2



S(St20) x { (416
'I_—""""""'————-_

($+20) -5 | SO

> (8+20) x 19
W_ 0%



23. When a person decreases its speed by 6

g-2 ;( & km/h, reaches his destination 20 minutes

D= /g(s &) X M i A L late while when he decreases its speed by

& 3 2 km/h, he reaches 5 minutes late. Find
actual speed of the person?

S 48-24=35-6 W Ueh oAfad 3109 =Tl H 6 ferddi/ /=2 &l ahl

HIAT & A 9% A Tiaew WA W 20 fume &

é} I U ugwdar € Wq W a8 Ul e W 2

fetit /92T &t &t & a1 € a1 a8 5 fuse &t
3 ¥ wgudr 8 SAfad i anafass we 719 it

(a) 16 km/hr \ (b} 18 km/hr
(c) 17 km/hr (d) 20 km/hr

N\
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D = ZE’/ (s-lcf)_ XAW - ZlsHY)X %4, Annu covers certain distance with her own
Y54 V53 speed, but when she reduces her speed by

10 km/hr, her time duration for the

2) 65- 60= S+15 journey increases by 40 hr, but when she
- = 93~ 15 (mih increases her original speed by 15 km/hr
-)/?é time taken by her is 10 hours less than the
original time. Find the distance covered by her.

" D= ISXS x4 7 tw Ffvea gt ot uw Frw e @ T
o SHidl € Wd 4 98 30 =re 10 feRdt /=2 &m

= 300 U &dl & ar g & fau Suet wug safa 40 w2

g WAl gl Uq 9a 98 AT YA el H 15
fertit /g2 @t gfg &edl & af 3k g ferar
T g AU ¥ 10 92 &W g g1 3Weh gNT 99
L% gl 1A it

(a) 300 km (b) 280 km

(c) 320 km, (d) 350 km-
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y 0525. If speed of a train in by 10 km/h
) 20 ' peed of a n increases by /hour
D= s+ x L2 ‘ﬁ—)‘ then time taken to reach destination

decreases by 1 hour. If speed increases by

3 88480 = FIS+I40 10 km/hr further, time again reduces by 45
'minutes. Find distance cw
2 afe fedt ot =t =me ® 10 fadt =2 =t afg

gl € A Tiaed TIH A& Ugdd ° 3Ha g ol

D Ga’x'_IQXI—'-!zolcm mmﬁ1u€ﬁﬁmaﬁtlwﬁwn
10 ferdt /=2 gig et & o forg ™ aua
>t 45 oz =i, ¥t Tl &1 TETET AT 99 @i R
i A s
420 km (b) 430 km

(c) 410 km (d) 425 km
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D=

BY ADITYA RANJAN SIR

S.Hg,)x/e'(__ 569" w526 A train covers a certain distance at a certain

-4

3 238 +18 =

58-30

) Mygs¥s

- D=

e
=R

2Y X‘305§

‘120

speed, if the speed of the train is 6km /hr
more, then to cover the same distance it
takes 6 hours less. But, if the speed of the
train is 6 km/hr less then it would take 10
hrs more to cover the same distance. Find
the distance covered by the train.

&g ormet fedr Fivem =me 9 e ffvea T
T wdar g, afe et W oure 6 feR ot aer
wfirer €1, @ I Th W oA T fow 6 w2
&Y T HAfeR, Tfg Iermst ®t =we 6 T g
®U BrAl, @ WA S 99 oA " 10 9 3t
ST ICTST T a9 &l T3 g4l ATd hi (U

(a) 640 km by 720 km

(c) 540 km (d) 680 km,
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@ A car travels from P to Q at a constant

R"’og

speed. If its speed were increased by 10
km/h, it would have been taken one hour
lesser to cover the distance. It would have
taken 45 minute lesser if its speed was
further increased by 10 km/h. The
distance between P and Q is

U&h & P 9 Q a& Ush gy =ner | arar &l
£1 afg gt wre 10 Tt = @gr & =, o
Ut g Wl a9 &IA H IY TSk "9l &wH uud
wTan afe gEent wrte 10 Tt /g 3w =@ &t
ATt A °E 45 foe & 9ua oA P 3R Q &
&=l ohl g3 19 shifa)

(a) 540 km (b) 420 km

(c) 600 km (d) 620 km
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Bus Walking
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28. A person goes to Jaipur from Delhi which is 240

Bus _Ivain km far. He covers some part of distance by bus

200 h 55km|h and rest part by train. Time taken by him to

e cover complete distance is 6 hours. Average

]k speed of bus is 30 km/h and that of train is

= : 5SS km/h. Find distance covered by the person
7> { _dor going by train.

3 - a Sunit = Ghy 5 *

il o AN s Afaa faeelt @ 240 fodt g7 fram sy smar 2

=N ’f+=.%h~, “%h"agwﬁmqﬁwﬁaﬁ?mmmﬁm

-'-DT-SQX_Q Fal €1 39 /A g a9 HwA U 6_°He & {uI o

Z (g § gl a9 &t i\a are 30 faedt g 3w YermEr &6

N ‘g|32@1 va&%mssm/m%ua:ﬁammﬁmﬁné

Q= S6x, /6( i1 A &ITAU
;%,rloakm (a) 10Q km () 105 km
(c) 110 (d) \108 km
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Q—d} -ﬂs 29. Vikash went to city from his village which is

6 Iunlhg o 4owm b 48 km far by two mode of communi-cation. He

covered some part of distance by cycle and

24kmlh rest part by bus. Average speed of cycle is 16

Timuw ; - = km/h while that of bus is 40 km/h and he

& ‘ covered total distance in 2 hrs. Find distance
Q Sun;t = 2hr covered by him going by cycle.

te= 4hy ée:'%b*'i” S &Mt s vt (a8 faR) 37 e v

3 a1 qreat | WA €1 9% /el 991 o H{Y 9 wrEfed
De= 16xy A 3t 9w =W A 7@ FA §1 A W@ shaa =
=5_“L3 oy 16 Tadt w21 wafes @9 &t 40 farddt g2 € 37 @
3 Sn:}ﬂ Hyui g9 2 U2 U A9 AT €1 IHS ZWT WiEfee |
» 2|-%'trn ki 4 a & W I A FfA)

1 1
20 — \(19/21—
(a) 3 km a km

1 1
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TYPE-OS

(AVERAGE SPEED)
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Total covered distance
Average speed = Total taken time

w7 w W

& forar T wug

T =T =

Cases for Average Speed

T AT i Teerfaar

1. When distance is constant
W& i e
B When time is constant

& ug faa
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Case-I/Txafa-1
When distance is constant
W& it e at
—_—
A S, B S, C
D D

“% s, 2% s,
Average speed/31THd =Tel =

D+D 2D _ 28,8,

L n(l 1] S, +8,

-
S, S, S, S,
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From above explanation, it is clear that when
distance is constant, average speed is free from
distance. It means three is no need of distance
or question can be solved through any supposed
distance.

3ude faator ¥ 9 we ¢ f& 5a gt faa o 1 ofma
=Tel i W w@aT g ¢ 39T g H wIE mavaehar W@l
grdl § 3194l WY Wl T hid o folg g W /P 6
foran e 2
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30. A car covers a certain distance travelling

ang = 3 _:_(j’ at a speed of 60 km/h and returns to the

starting point at a speed of 40 km/h. The

= %_2)‘6 g average speed of the car for the entire
journey is:

= Y8 umln U& & 60 km/h @t fa ¥ weid g0 Ua ffvema

g1 99 WAl € 317 40 km/h & 7fa ¥ wrfaes
fag ur auw wed 21 gt g & fau @ w @
st nfa =T 872

SSC CHSL 27/05/2022 (Shift-03)

(a) 20 km/h Ws km/h
(c) 120 km/h (d) SO km/h
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A person covers a certain distance by bus

o= &y at 45 km/h and immediately returns to

AtY q |6 the starting point by car at a speed of 80

= _@xys’ﬁ (80 km/h. What is his average speed during
,],%g/ the whole journey?

= uw wfaa fadt fafvem g6t =1 @9 gRT 45 km/

- 288 - S7.6 kmhh @ W # 7@ @ § 3 qA FW FET 80

km/h & =@ ¥ URfas fa<g v amoq amar
%l@W%WWWWﬁHﬁ%’

57.6 km/h (b) 63.2 km/h
(c) 73.5 km/h (d) 45.5 km/h
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32. Ruksana travelled at 60 km/h while going

ang =2%Y from point A to point B, and returned via
(xtyY) the same route at a different speed. If
2 W%_ o ’Sﬁd?( y Ruksana’s overall average speed during the
_760-}3) two-way journey was 48 km /h, what was

her speed while travelling from B to A?
2 12042y = Sy FHAET 4 T A W WE B &k W4 § 60
'—")qol}(:}/a km/h & =Te | IGrAm &k, W ww fu=m =we

& WY IET WM W Grae @rern gfe g\ Sravwr
AT & BT BHRATAT HI el dHd O 48
km/h of, 9 T B & T™H A &l 3T AT

. #FTd OUT IUFT HATH9 AT =97 Ai?
SSC CHSL 02/06/2022 (Shift-02)

(a) 42 km/ (b)/40 km/h
(c) 45 km/h (d) 36 km/h
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Case-II/afa-II

When time is constant

9 9ug g 8
S, S,
e 1
t t
D =S xt D,=S,xt

Average speed/31dd =Tl =

D, D, S, t+8S,t_ ¢(S,+S,) §,+8§,
E+t EvE 2t 2
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When time is constant, average speed is free from
time. It means when time is constant

o wug fAaa g1, 91 3i\a 9re 9ug 9 @dad gl gl
Fgta o= wug fraa

Average speed/ 3i14d =ITel =

Sum of the speed
Number of speeds / observations

STl T FA
ATl / GAAIOT i HE&AT
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2aum| h 99 m|h

=TD =29+39

Suva
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A man travel from A to B at a speed of 29
km/hr in 29 minutes and he travel from B
to C with a speed of 39 km/hr in 29
minutes. Find the average speed of the
whole journey?

U et 29 fume o 29 famddt =wer &t wfa 7 A
O B @l amam &dar & 3w ag 29 fume W 39

8 =3Yum), fadi/wer &t nfa & B & C &t arn & & g

2

qTAT i 3THa T 719 Hifad?
\(gﬂu km/hr (b) 35 km/hr
(c) 36 km/hr (d) 37 km/hr



|or.mlh| 30 km/h | 20tm]|h
MHsee ' 2Tse. ! T Sec
| A 3



34. A car travels with a speed of 21 m/sec in the
first 10 minutes, 9.0 km in the next

10minutes and 10 km in the last 10 minutes
Qum |0km of its journey. What is the average speed ofthe
lomin"  |0min car in km/h during its entire journey?
e .k . -
D=aiygx\d U& &I ATA ATHT H Ugel 10 oz § 21 m/sec
- ° & WA W Fedt €, AT 10 2T ¥ 9.0 km 3w
- 12:6 sifam 10 fe & 10 km &1 IET FHAr F1 A G
AT & TN I i AHA A km/h ° =T 27
ﬂ"a =126+9 410 .
3 SSC CPO 10/11/2022 (Shift- 01)
", oY | (a) 60.0 km/h 3Y63.2 km/h

832 ) (c) 62.0 km/h (d) 65.3 km/h
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,259"‘-’“ | 35. John drives 250 km at 50 km/h and then

_seftm[h *‘W’“'h he drives 350km at 70km/h. Find his average
speed for the whole journey in km/h.

qua_-_ 2504350 Wi 250 km @t g 50 km/h & =A H

10 TMET TeTeht a9 &iar g 3 v @ 350 km

'-‘-é% #1 g 70 km/h 1 WTe ¥ ME TATEHT 79

&Tar g1 I AT & EA IHeR! THA oI
(km/h ®) FATd FHITA0

SSC CGL 08/12/2022 (Shift- 02)

(a) 55 km/h \(b)60 km/h
(c) 58 km/h (d) 65 km/h
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,q.gun m +a$'|cm
_letm| h 3o %lb

sﬂvaz,% 15
e

Prasad goes 96 kilometres on a bike at a speed
of 16 km/h, 124 kilometres at 31 km/h in a
car, and 105 kilometres at 7 km/h in a horse

cart. Find his average speed for the entire
distance travelled.

UHE Ush a3 97 16 km/h & = 9 96 Taendizy
&1 § 31 km/h & =Tl 9 124 fawender 3w
HET MET § 7 km/h & 9@ ® 105 faendtey
wiar §1 79 W W g 30 B few I@ea sivEa
e AT HiTAU|

SSC CGL 05/12/2022 (Shift- 04)

(a) 16 km/h (b 13 km/h
(¢) 17 km/h (d) 11 km/h
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4owalh  Soumih unh37' A person travels in a car at 40 km/h for 3
"?W%L hours, on a bike at 30 km/h for 2 hours, and
= in a train at 80 km/h for 5 hours. What is
Smra: IQ-O'i'I go""“oo the average speed at which he travelled?
B Us Hfad & H 40 km/h &l =61 § 3 U2, AEH
"Sle U7 30 km/h & W& ® 2 ®e 3T 29 H 80
km/h & =@ § 5 U2 ITAT &al &1 SH& gl
ferm 3iTaa ST | ATAT H ME?
e SSC CGL 09/12/2022 (Shift- 02)
(a) 56 km/h (b) 60 km/h
(c) 62 km/h (Y S8 km/h

™
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‘ISm“) e55mh  SYkmih 38. A man travels for 4 hours at a speed of 75
At Ghr She km/h, for next 6 hours at a speed of 65.5 km/
h and for next 2 hours at a speed of 54 km/

h. What is his average speed (in km/h) for the
entire journey?

Us JTEHT_75 km/h & W1 ¥ 4 92, 65.5 km/

. 900+333 + |08
Sa T

’%?—g—i h %l =1 ¥ 6 92 3T 54 km/h &t =e1 2t 92 A
= 66% ATAT HAAT B GH AT W IEeht 3frEa = (km/h
o) = g7

ICAR Assistant 29/07/2022 (Shift- 02)

3 1
\¥56 ) 653
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‘lSm“) e55mh  SYkmih 38. A man travels for 4 hours at a speed of 75

“An | _ghr | _&hv

<

Sova = .Lsﬂ_'q‘é' S+S59

>

2 «Xlero
N6
A Teey

|

km/h, for next 6 hours at a speed of 65.5 km/
h and for next 2 hours at a speed of 54 km/
h. What is his average speed (in km/h) for the

entire journey?

Us JTEHT_75 km/h & W1 ¥ 4 92, 65.5 km/

h % 9ITe1 ¥ 6 42 317 54 km/h &t =ITe1 21 92 |
ATAT HAAT 1 U AT W Il 3THa = (km/h
o) = g7

ICAR Assistant 29/07/2022 (Shift- 02)

3 1
\¥56 ) 653
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!W 39. Two-thirds of a certain distance was covered
_%- < st at the speed of 45 km/h, one-fourth at the
“ o 4 km speed of 60 km/h and the rest at the speed
DS 8ium 3 of 75 km/h. Find the average speed per hour
g5 d4Sumlh 6oalh 1S Kmlh g0 the whole journey. (correct to 2 decimal
places)
8°V3=—_§|_1T+1— ferdt fafyea g &1 ar-fage 9™ 45 km/h &
s 60 T T |, Tsh-=1918 9T 60 km/h & 9TA | AT
= 19, v 9 75 km/h ® Ol @ @3 fear w0 gd
; \ - . . &
:' \6°+q3+\9_ qraT & fau tEa =re uia 927 (27 S9THed T
= |2x 00 A WEl) JTa hifeo
J\ SSC CGL 01/12/2022 (Shift- 04
(4(? (a) 51.25 km/h (b) 45.75 km/h

h’(c) 58.25 km/h ° \g/49.77 km/h



U

S S
404N _opitm

jﬁ'km |
/Ef.‘ﬂlh

~&im|h 'f%mnlr,
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Vikas covered a certain distance by bike. If
he covers 40% of the distance at 40 km/h,
50% of the distance at 25 km/h and the
remaining 10% distance at 10 km/h. Find his
average speed over the whole distance.

fawmm = s fAfvem 36 ags @ @@ =0 afz =7
40% @ 40 km/h & =1 |, 50% g1 25 km/h
@i AT | 3T 919 10% & 3 10 km/h & =1
¥ 99 &HwIAT ¢, A I g A9 HwIA W IWR’ ATHA

=T AT ShiTAU
SSC CGL 03/12/2022 (Shift- 02

\(7/25 km/h (b) 28 km/h

(c) 26 km/h (d) 30 km/h



{_‘ - 3 hv 41. In a journey of three unequal laps, a car covers
% Xg a distance of 200 km in 4 h in the first lap,

while another 162 km at the speed of 15 m/

S00KLM ‘ 162 m , A« km s in the second lap. It covered the remaining
4h 1 ISm|s 4h

distance of the final lap in 4 h such that the
average speed of the car for entire journey

was S50 km/h. What was the speed of the car

in the third lap of the journey?
SavazTD mmm?ﬁrwuwwmmm
T T 200 fddt &1 I 4 92 W 99 FIA1 T, TElH U
9 Sp - 162 +% + g F 162 fadt w T, 15 WA W owE F A
3_'_ 200 FrAl §) 399 faw arn F vrw I w4 92 A IW
3 880"36 L-l-i.q yEwIT 79 & 41 f& oft g & fav & & e
-3 2+7( e 50 famdt "2 21 W) grar & AT 9 o w6

\88.-:( =T W 9r?
‘. Gy
va B &Qj \(,A'r km/h (b) 52 km/h

X (c) 42 km/h (d) 45 km/h




{_‘ - 3 hv 41. In a journey of three unequal laps, a car covers
Xg a distance of 200 km in 4 h in the first lap,

while another 162 km at the speed of 15 m/
s in the second lap. It covered the remaining
distance of the final lap in 4 h such that the
average speed of the car for entire journey
was S50 km/h. What was the speed of the car
in the third lap of the journey?

A9 WU 9T W AT o, Ua I UEe 9r @i
200 farddt &t If 4 w2 o 79 HwA ¥, wAfe W
arm & 162 fadt &1 I, 15 WA T =W ¥ A9

1632+)( FTAl T 39 offaw wm Fw 9T N7 H 4 €2 U IW
3)38()“62*_):%" T 79 & 4 f& oft v & faw w6 sfee
~ |88‘ e 50 fadt w2 21 w3 arar & dr9T 9 o Hww i
'.-S =X =T F4r 9r7?
%= 186 4y
}( \(,A'r km/h (b) 52 km/h

(c) 42 km/h (d) 45 km/h




%9’)(_(3 =SYimin 41. In a journey of three unequal laps, a car covers
4 a distance of 200 km in 4 h in the first lap,
hile another 162 km at the speed of 15 m/
y w
Bh 162Km lUﬂ’h s in the second lap. It covered the remaining
distance of the final lap in 4 h such that the
4h f al lap 4

_—__/ average speed of the car for entire journey

S0 mlh was 50 km/h. What was the speed of the car
in the third lap of the journey?

9 rEuT 9T Wt Agrar o, U &I Ugel 9T @l

3‘"’"’ 200 fatt &1 TN 4 92 § 79 wwA ¥, wAts Iy
_ arr & 162 fedt &1 I, 15 WA T oA W A9
'%mq_ FrAr &1 39 affaw wm w 9w T/ Hr 4 €2 A W
QD . 4 / g w w A fE Oh oarn & few wwoE sfw
e 50 Tt w2r 21 w38 arn & e 9 o w5 &6

. a:mmlh T = 9r?
\(747 km/h

—t:%/

(b) 52 km/h

(c) 42 km/h (d) 45 km/h
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The ratio of the distance between two places
A and B to the distance between places B and
Cis 3 : 5. A man travels from A to B at a speed
of x km/h and from B to C at a speed of SO
km/h. If his average speed for the entire
journey is 40 km/h, then what is the value of
(x-10): (x + 1)?

> S4e= & @ A 3T B @& d@re i g1 @ @ B 3R C &

(‘%‘"“&..L are @l g1 W 39 3 : 5 | Ush Afad A9 B &,

= 50ch x Tt /g2t &t =rer | 3w B9 C @& 50 femdt =

Ty wmnwmgruﬁuﬁwmmm

5 3_:_\____L %:3, draa =re 40 fadi gzt €, & (x -10) @ (x + 1) &
:jE_ S o T = B

q,‘-_-J_ SSC CGL MAINS 29 Jan 2022

Q \11{20:31 (b) 31:20
() 11:10 (d) 10: 11
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Question based on Average Speed with Stoppage
SEUTE @ WY 3THA =T UT T Wy

When stoppage time is taken into consideration
while calculating average speed, it is said average
speed with stoppage.

W& 3iTEd oA i MU @id g0 S & |ud i Wi
IITTHeT &hd & o 30 SeTd & W19 3iHd 9T & Fed e

© > S Se—

Soltmlh
“&iei Gthay | ¥iCK = S X 56w,

Oin
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43. Without any stoppage, speed of the bus is 54

km/hr and with stoppage its speed is 45 km/
ans= | B4-4S X 60 hr. The bus stops for how many minutes per
5Y hour?
far feddt sgva &, a9 &t =@ 54 Tt/ wer €
- a &¢r |0 . .
ST)( [ 3N BEE @& WY IHEI O 45 TR/ =er ¥ o§W
ol wfe w2t farad e & fom wadt &7
(a) 9 \_(by 10

(c) 12 (d) 20



q %

Bnix _ﬁxﬁe'

4
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44. The speed of a bus without stoppages is 40
km/h and with stoppages is 32 km/h. How

many minutes per hour does the bus stop?

U& a9 i =@ faar sEva & 40 fadi gz aon
SEME & WY =T 32 Tt uEr € W uew ue
9 foaq fae =& fou sevdt 87

SSC MTS (Shift- II) 08/10/2021

(a) 18 (b) 15

(s 12 (d) 16
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20 . ;
g 43S, Speed of a car without stoppage is 48 km/h and
Totab SwPPO&Q _ ZX that of with stoppage is 36 km/h. If car stops

Hime i rl’fgﬂ each time for S min then find the number of
- 00mMiN stoppage in 1 hr 20 min.
| tE &R @ far sEvm & = @) fed wer siw
*-‘“0-01,-.—_,944:4 et & g §o) faddt /et 81 afs & y=e aw s
Stops 57 foe & foq = € W 9 ZETE @
HEAT ATd wiTAU|
(a) 3 times \_[]ﬂ/ 4 times

(c) S times (d) 6 times
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>
Total s 12o 46. Speed of a train without stoppage is 80 km/
- 42X
5{5'3|:’PQ‘3“C 80 hr and that at with stoppage is 70 km/hr. If
Hou B stoppage time is 3 min then find the number
- 1Smin of stoppage in 2 hrs.

s Termet @i faer sEva % =t 80 feRdt/ser 3w
seta & wig 70 faddt/ger €)1 afg omst v an

No- S -
%hps_g/s 3 ffe & fow wadt € a1 2 92 W 3E0E W G@E
Fd AU
\_[,a( S times (b) 6 times

(c) 8 times (d) 4 times
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47. A train left Delhi station and reached Mumbai
D =+ 1600 k) ;;’) station which is 1600 km far. Average speed
of the train without stoppage is 100 km/h and

no- ﬁ{; %—i LS OUy ailf there is stoppage of 10 min in every 100 km

0PS then find total number of stoppages and
average speed of with stoppage.

‘*.'-'-L‘\th SQV&‘-‘T_;__Q. @Wﬁ_ﬁﬁé‘vﬁﬁwoo%ﬁ?@ﬂw

1o _ ‘IT LI Ugadl &l {ermet sl faar sgva & 3iEa =

1= JONE 9shy - —l?_ia—s 100 famedt ger 21 afe were 100 et av 10 fuse

Soy & I w1 Je(E BT A1 Wl SEUE@ @ Wen 3 SEva @

-l--——-lg()xla'?- g TET =T A A

(a) 15, 91 S /h (b) 18, 9

3
(c) 15, 94 -/ kmXh (d) 16, 94
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Here,

S. > Speed of train starting from A

1
(A ® 9% 2 arel 29 &t i)
S, > Speed of train starting from B
(B ¥ 9= 19 arel 29 &l 7iq)
T —» Time after which they meet each other.
(wug faus: @e 4 ua-Iut ° foes §)
T, > Time taken by the train 1 to reach at its
destination after crossing each other.
(29 1 BT Ush-I/T &l U &7 & AE 707 Taed a5
wge o ferar wan wuw )
T, > Time taken by the train 2 to reach at its
destination after crossing each other.
(29 2 B USH-IHT FI UN FI9 & AF ;U7 AT a6
e o ferar mar wuw)
D > Total distance form A to B.

(A | B @& & ®Ha 910)
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On this concept three types of questions are
asked in the exams and they are based on the
given formula below :

3 AL T THgm | &9 Wl & U9 YD &1d & ol
drer fad ™ gt v amenfia g #

(a) = JT, XT,

T

Sl —
b c—
®) s, "\
() D=ST +ST,
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48. Shyam starts to walk from A towards B at 10

\g'.@ a.m. and Radha starts to walk from B towards
A at 10 a.m. and after meeting at C they both
— C reach their destination in 24 and 54 minutes

S JYmin respectively. Find out the time they meet at C.
I— AW A B @l 3T 10 & FeA Y& BT & 31
-t_: 4XSY T B W A & 3T GaE 10 a9 T Y& Hidl @
_'_\]HXGXGXQ dT C w fue & @@ a I U9 24 IW 54
T NX6X3 =3¢y fHAE H 30 A A% wEEd §1 C W frery w5 uwa
LM T 100y ATE ahifaw)
t3g (a) 10 : 30 a.m. (b)/10 : 36 a.m.
T \0a (¢c) 11: 00 a.m. (d) 10: 25 a.m.
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49. A and B started their journeys from X to Y

and Y to X, respectively. After crossing each
other, A and B completed remaining parts of

A B
their journeys inhours and @hours,

respectively. If the speed of A is 32 km/h, then
the speed, in km/h, of B is:

AT BA HAI: XH Y FT Y T X & feao
HYHAT IATAT II® il TH-FHT &1 U &HIT &
A2, A 3T B F 37991 IQTAT & 9IS ST @i sHUIT:

1 . N K .~ - . ~
6§ ©2 31T 8 ©ie # g fewan afgs A &1 =@

32 km/h %, ¥ B &I WITel km/h ¥ FATH it
SSC CGL 12/04/2022 (Shift- 02)

(a) 21 Wzs

(c) 30 (d) 25
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6 R Suman travels from place X to Y and_Rekha
S: il wrs travels from Y to X, simultaneously. After
SR '&S meeting og the way. Suman and Rekha reach

Y and X, ini (3 hours 12 minutkes 1 hour 48

:) SS — M q minutes, respectively. If the speed of Rekha is
9 192 |6 9 km/h. then the speed (in km/h) of Suman is:

UF BT OAUG U UEA WE X ¥ Y & feu et @

._S_S_-:_B_ AT T@Er W Y H X & fou gt ) mm o fues

9 < @& AE, guA 3T @ e Y 3T X 9T % 3
SS:Q-I g21 12 fuae 3w uw 92t 48 foe o ugwdt 2

\ afg Tar wt =we 9 faddi /92T 8, 91 gua &1 a9ra

( farddt 2T o) JA19 *T)
SSC CGL 18/08/2021 (Shift- 02

(a) 75 (b) 6

(c) 8 \u(G%
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o = 'E_s 51. Radha walks with the speed of 40 km/h from
Ss R A to meet Shyam and Shyam Walks towards
3 40 - (16 her from B. After meeting eac?i other at C %ey
S g reach at each other's home and 16
S e hours respectively. Find the distance between
= 480 =4 A and B and speed of Shyam.

S 3 e, vam | faem & fow A | 40 fadi gzt &t nifa
= Ss=30kmlh U Tedl & 3T a9 B H SHET AW "@@ar #1 C H
- Fwt & fae & am ¥ w9 W2 3w 16 W

D_‘ SQ{‘R'PSs‘cS Ush-g08 & e & & o ey 9 16

T UH-gHT & U Ugd &1 VAW @i e 3T A 3w
360"'“80 B%ﬁﬁaﬁﬁmml
" (a) 1120 km, 40 km/hr
(b) 1120 km, 30 km/hr
)840 km, 30 km/hr
(d) 840 km, 40 km/hr
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-10WMh qom'h 52. A and B start walking towards each-other at 9
: 00 a.m. from Jaipur and Kanpur respectively.
A Speed of A and B are 70 km/hr and 90 km/hr

Q:00 ()D 08 Q:oo respectively. They meet at Delhi at a certain

time and have lunch together. At 10: 39 a.m.

They again start walking towards their

destination. If flreached at Kanpur on 12: 27
Sﬁ = +-ﬁ p.m., how much time they spent together to do
q- A lunch?

A 3T B §ar 9 TR wHUY: AT T HEAG [
UH-FHT W AT wer qnW & ¥ A 3T B &

3 o8 ore e 70 fadt sz s 90 fadt wzr €1 A
g ¥ et wom faeelt W A A0 wuw o faem € osim
mCQ-Hn_ WP AU A At UE W9 AET w9 w0 § oA

3‘\!-% - mwa:"saftmrm&éﬁfftmmimm
3¢ XY = 8XIX2 = BYmin

.1 W AT e vE @A §) oA A @ 12wt
?;80 27 Rz ur ugw wWAr £, @ @A 3 e g o

% |0:3 g araq ur famra?
0‘ (a) 16 min (b) 12 min

¥/15 min (d) 20 min
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w= 55

w.+3w- 55 53. Iwalka certain d distance and ride back taking
X w: = a total time o[mljtes I could walk both

ways in 55 minutes. How long would it take
W+ R =37 me to ride both ways?
"'2"'9 i U fafvem g1 tae 9 o g | amow e

m 4 & 37 fose & gwa @ven € g S W UEe
- R+R = = x-S A 3T Ay A 55 fawe o §) W@ A ww ans

=19 | W 3w araw o # faea wwa enmm?
(a) 9.5 m (b 19 min

(c) 18 min (d) 20 min
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R+R= Shv 54. A man walks a certain distance by foot and rides

R=I-Shr back on horse in 4 hr. 30 min. He could ride on

2 WH+R=4Shr horse both ways ing:E The time required by
S W= 4.6-1.S the man to walk by foot both ways is :

= Bhy fonddt =afw &1 e fAfvea it e 9 3iF 912 |

arfug 3 4 & 4 92 30 fqe & ) I W @
Zh 02§ A 3 9 H 99 W wEA § I WE
i & UTd Fe U 0 arell avde Jud Ad i
(a) 4 hrs 30 min (b) 4 hrs 45 min

(c) 5 hrs \(¢)” 6 hrs
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MATHS COURSE (For all govt. exams )

10 m/s Sm/s 25 m/s
e ¢ 4+—

A B C
<4— 2800 m ——p

If all of them meet at the same time, find the
location of that point with respect to A?

gfs o A U & A9 WY foed € a1 A & WEW ° 3|
fag &t &= | Hfea?



N

_In Goms_ Uiy~

Som¢-|

-
— 9300'\;

r R'S: 30-20
— |Omg-|

_JIn_opposite Dir"®

-
*§ 30ms
§Qms N e
Ke[ e :30+30
pad

~ SOms-!
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7,?)? - police (oncept

oS~

ISs-

ISom

Police .3-'-?

:-:Q:
1 S %30 Secomg|




Police Jré
Qo
‘Distamce blw +hem QISC'Y 2Ds ec. e s
8°P = (25-20) 20 p =(§§§z?f éo
‘“m‘di SXZO:-I%_Q (QH: o = 1[0
$ = 1000- 100 S0 %
)
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19 S55. A thief was noticed by a policeman from a
qo,P: (Q "20)%x distance of 80 metres. The speed of the thief
is 21 km/h and the policeman is 20 km/h.
What is the distance between them after 18
seconds?

U& Yferderdl 3 W @i 80 Wet @i g0 ¥ 2@
AT @i W 21 km/h & 30T gfe@eswdl i =Te
20 km/h #| 18 U&HUE & AT Ik e @i I
T BII?

(a) 70 metres (b) 95 metres

(c) 90 metres (d) 85 metres

- 5m

Gop W = 8045-8Sm



mls 56. A thief is noticed by a policeman from a
distance of 97 m. The thief starts running and

Qm Arm|s the policeman chases him. The thief and the

policeman run at a speed of 21 m/sec and

v T= 48.5 23 m/sec respectively. What is the time taken
}/ by the policeman to catch the thief?

U gferdedl %t 97 m & gi | uw @it fawrd
aar g1 WY 9T oer € 34 qferaedi sue drer
HTar g1 91T AT gfermedt wuvr: 21 m/sec 31T
23m/secﬁmﬁﬁ3ﬁﬁ‘lﬁﬁﬂaﬁﬁlﬁt§rﬂﬂ¢tﬁ
(a) 40 sec (b) 45 sec

(c) 62.5 sec () 48.5 sec
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57. A policeman sees a thief at a distance of 150
| g ';5,,,1\5 m. He starts chasing the thief who isrunning
|Som) at a speed of 5 m/sec, while the policeman

chases with a speed of7m/sec.Find the
"5 distance covered by the thief when he is

DP SP L 3%«“{ )95 caught by the policeman. 73

\) U Uferaadl 150 m &1 1 07 U S Hi @
SX¢ 21 9% 5 m/sec, Hl ATH | UM T =W H GBI
:§1§- AT AT &Tal &, Fdieh Yferaadl 7 m/sec.
T F UTA W WS AT F1 qfe@wdl gET UHe WA
& TUG d& AT GRT 99 @i Mg I J1d FifAu
(a) 285 m (b) 325 m
\(5)/375m (d) 295 m
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58. A thief stole jewellery from a shop at 8:15
873} p.m. and left on a bike at a speed of 60 km/

81 8:30 Q.00 h. The police were informed at 8:30 p.m. If
the police want to arrest the thief at 9:00 p.m.,
- D what should be the minimum speed of the
+
= police jeep?

) =S 18 U&h 9N 4 Tk g § 8:15 p.m. U AaT T
R (’K--Go) 3’7 60 km/h &l ¥@ U AZsh H 91 AN gfew
) rX“‘GO =20 & 8:30 p.m. CE| kL 21 2 af2 qu—lﬂ el |

e 9:00 p.m. 9 fimwAw &1 wEdt &, 9 gfew sy
A3 0xm|h & gAan urel faadt g arfeu?
= SSC CGL 08/12/2022 (Shift- 04)
(a) 60 km/h (b) 7S km/h

(c) 80 km/h 90 km/h



95msS '

NDmns!
lopom [ \
(9:00 a-m) Q:00
00
—t:‘@_: amse(ﬂhd ﬁj—% (ﬂ%.:')

Pr— S
= (|80+20) W
= 3%‘11\ aDSQ



S59.

=Q

A thief running at speed of ‘x’ km/h is chased
by a policeman running at a speed of 10 km/

h. If the thief is ahead by_100 metres, the
policeman catches the thief after 3 minutes.

At what speed is the thief running (‘x’ being
the unknown speed)?

'x' km/h & =TT ¥ 318 T8 U =T & U371, 10
km/h & 9Te | I 7@ Tk Yrorgarat g faan
wrar #1 afa =i 100 wWew i €, 9@ gfemadt 3
foe & @e =T &1 g o4 g1 a1 @ &
T ffm oTer | 9T 1T € (‘%' 3FE A )7
SSC CGL 09/12/2022 (Shift- 03)
(a) ¢¥m/h (U 8 km/h
(c) 10 km/h (d) 6 km/h




60.

Two cities A and B are 135 km apart on a
straight track. One car starts from A at 8 a.m.
and travels towards B at 25 km/h. Another
car starts from B at 9 a.m. and travels
towards A at a speed of 30 km/h. At what
time will they meet?

21 9T A 31T B | Wl 7 u¥ 135 km T g
9T EIUH HT A ¥ 8 a.m. UT FEAAT V[E HIdl &
3T B & 3T 25 km/h &1 =e1 § dedl &1 U
T &I 9 am. W B H I@T IFE HIdl & AN
A &t 317 30 km/h # =Tel 9 wodt ¢ 9 faw
g faeit?

SSC CGL 09/12/2022 (Shift- 01)
\[;/11 a.m.

(b) 10 a.m.
(c) 10:45 a.m. (d) 11:30 a.m.



60. Two cities A and B are 135 km apart on a

aight track. One car starts from A at 8 a.m.

Sow[nStr g

'h ,h @nd travels towards B at 25 km/h. Another
. 30K car starts from B at 9 a.m. and travels
& 12Skm ——_}s towards A at a speed of 30 km/h. At what

time will they meet?
21 91T A 31T B ®§ Wi 7 u¥ 135 km & FH
1= (I3S+30):7%5h{ uT 1 U% ®T A 9 8 a.m. UT FEA UE HIA £

(2s+30) “52° 3T B @1 3T 25 km/h & W@ ¥ = §1 U
T T 9 am. U B H FE@AT IE wIdl g I

N\ee} *8{00 A &t 37 30 km/h & wte ¥ wedt € 9 f@w
& SSC CGL 09/12/2022 (Shift- 01)

\(}}/ll a.m. (b) 10 a.m.

(c) 10:45 a.m. (d) 11:30 a.m.
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1. Two stations are 120 km apart on a straight
line. A train starts from station A at 8 a.m.and
moves towards station B at 20 km/h, and
another train starts from station B at 9a.m.
and travels towards station A at a speed of

4 - Shy 30 km/h. At what time will they meet?
% a1 2y U dieft |t 4 120 km @ g 9T ¥
Meet = 900 U&h 29 #yH A § Hag 8 a.m. W F&1 I[E
tQ ®Idl & 3T ¥y B & 307 20 km/h & =we |
_“:i)_ aerdl &, 31T g 29 L9 B 9 gaE 9 a.m. W

T YTE wAdl & 3T LI A #f 37 30 km/h
w1 O 9 werdt 21 9 few waug fusi?

SSC CPO 10/11/2022 (Shift- 01)

(a) 10:30 a.m. (b) 10:00 a.m.
(c)/11:00 a.m. (d) 11:30 a.m.
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3(11“\"\ yownlh Two trains leave Agra for Calcutta at 9:00 a.m.
q. and 9:30 a.m., respectively, and travel a

km/h and 300 km /h, respectively. How many
Aigva kilometres from Agra will the two trains meet?

W)
D, 3o 5/760.% 29 ATHT § FHieswar & fow %y 9:00 a.m. &£
D, Quo qﬁJ;nom(Q:'ao U7 TETET BEl & 31T w®uvl: 240 km/h 31T 300
km/h & 9T | Sedt g1 4 29 3T |/ fawaA
farerrdier &t g0 uv faei?

SSC CHSL 30/05/2022 (Shift- 02)

(a) 270 km (b) 300 km
¢y 600 km (d) 240 km



€—-
Wdh “12kmlh

T T %

6:30 1:30 T30 pm
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63. From point H, at 6 : 30 pm, a train starts

moving towards point K at the speed of 90
km /hr. Another train starts moving from point
K at 7:30 p.m. towards point H at the speed
of 72 km/hr. Both the train meet at 11:30
p-m. at point J. What is the ratio of the
distance HJ and KJ?

fag H 9 t& &gl 6:30 3WTEA UT K @il 377
90 far. di, /92T &l ITA B T AWY w4l €1 U
= Iemmel 7:30 3w W fag K 9 fag H
& AT 72 TR diger & 9@ 9 9e A A9 &l
g1 T Temfgal fag J W 11:30 3WREA W
faeedt &1 HJ a91 KJ 37 &1 379ua &1 872

SSC CGL 06/12/2022 (Shift- 04)

\(a)25 : 16 (b) 5: 16

(c) 36 : 25 (d) 31: 19
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-—'?l /“[\é— 64. Ajit Singh left from place P at 9.30 a.m. for
Y4walh 52km|n place Q, and David Raj left place Q at 1.30

q:300'TJ§!£.;3| v 240 KM 1:30p ™M p.m. for place P. The distance between them
is 416 km. If Ajit Singh’s speed is 44 km/h

P o ©
U’fir Y16 km {bavid) and David Raj’s speed is 52 km/h, then at

t - _Suo what time will they meet each other?
Q6 A wfaa fog gag 9.30 ad 9 P H W Q #

Mepgin, fou wren yiw wTar § 3 E2fag e FiuEr 1.30
ehﬂalmu 1:30 T - & f 3
2:3p WH Q ¥ WwH P& fau we=r vyIw &tar 21
R 3@ d@ra @i g1 416km ) afe afsa fag =i
— o 44km/h ® 3T 2faE U9 @1 9@ 52km/h

g, F um gET W fmaq o= faem?
SSC CHSL 11/08/2021 (Shift- 2)

(a) 4.30 p.m. (b) 6 p.m.

Mp-m- (d) 5 p.m.
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e &«
gownlh 9.5hv o Kkmih
P Q1S M Q
41 =D
3 S 1t
25=- 2383
10 (6043)
:) 60+’l: 1O

D
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65. A train starts running at a uniform speed of

60 km/h from station P towards station Q. At
the same time another train starts running from
station Q towards station P. If the distance
between the stations P and Q is 275 km and
the trains meet in two and a half hours, then

what is the speed of the train running towards
station P in km/h?

U TS 29 P § 2 Q Wi 31T 60 famudt w2
# THEYE Tfa | A IE FwIAl 8 I qHI U
G TS LYHE Q H LYH P @l I weA IE
widal g1 afg 2yt P 3w Q & dtw @ gi 275
frdt 2 3w Termigan 2@ 92 W fuedt & =2y P
&1 AT T areft 29 & wfa faedr g2 o @ &7

SSC CHSL 04/08/2021 (Shift- 2)

(x50 (b) 40

(c) 44 (d) 48
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44l

66. Menu and Daya travel from point A to B, a

distance of 105 km, at speeds of 10 km/h and
25 km/h, respectively. Daya reaches point B
first and returns immediately and meets Menu
at point C. Find the distance from point A
to point C.

Dm.-.-sm: > 1->§amu W 37T F9r %u9: 10 km/h 317 25 km/h &l

e

Pp Sp 2¢¢ S*%vwﬁﬁq;osk@ﬁqﬁ@wﬁ@\w@
Sxp Tfa= B ot ugwdr & 31T qia @redl € 31T °iq |

ong s 15
"'_if(&o = 6ot

fag ¢ wr fueet %1 fag A @ fag C @& =it A
AT ST

SSC CGL 09/12/2022 (Shift- 02

(a) 35 km
(c) 45 km
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66. Menu and Daya travel from point A to B, a
distance of 105 km, at speeds of 10 km/h and
25 km/h, respectively. Daya reaches point B

first and returns immediately and meets Menu
at point C. Find the distance from point A
to point C.

W9 31T &1 #uyl: 10 km/h 317 25 km/h &I
oTe ¥ fa<g 105 km &t T 9 &9 €| AT 9EA
fag B uv ugwdt € affT q@a wredt € 37 oiq |
fag ¢ wr fueet %1 fag A @ fag C @& =it A
ATd SITaU)

SSC CGL 09/12/2022 (Shift- 02

(a) 35 km
(c) 45 km
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A and B leave from point M at the same time
towards point N. B reaches N and starts
towards M instantly. He meets A at point O
(between M and N). The distance between M
and N is 245 km. If the speeds of A and B
are 26 km/h and 65 km/h, respectively, then
what is the distance between O and N?

_A T BUE ¥ wum wy fag M ® fag N &

Tl VE &id &1 B, N U7 Ugear ¥ 3T 9 9™
M & 3T Te IE &Il #) 9% fag O (M 3T N
& @re) 9T A ¥ foeer 1 M 3T N & &= @ g
245 Tt &1 afg A 3iw B &t et wwon: 26 femsdt =z
AT 65 fardi ger &, @1 O 3T N & &ter @t gh
femerit &7

SSC MTS 05/07/2022 (Shift- 03)

(a) 115 km (b) 105 km
(c) 95 km (d) 140 km
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68. X and Y start at the same time to ride from
place A to place B, which is 80 km away from

A. X travels 4 km _per hour slower than Y. Y

reaches place B and at once turns back

f,eﬁ""ﬂleeting X, 16 km from place B. Y's speed (in
2 km/h) is:

"-‘% ﬂ%zgtgn%? B @& W f& o A 9 80 fadt 37
£, W1 & fou X ofT Y U & wwa Uy ara uw
&HId T Y @ UEr X 4 99 yfa o2 ot @
HH%%IY,K';IHBWWWHI%@,W

. BH 16 WHL I a7 X ¥ fuear 21 Y &1 =aA
( fameit /=2 o) FTa T

/

SSC CHSL 04/08/2021 (Shift- 03

(a) 8 (b) 12
(c) 19 (d) 9
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69. The distance between two stations A and B
S is 200 km. A train runs from A to B at a speed

| _m*_ BEWS of 75 km/h, while another train runs from B
—— — I
BT 3s to A at a speed of 85 km/h. What will be the

1S 8S
distance between the two trains (in km) 3
minutes before they meet?

:':9;;:3: ?Waﬁa%aﬁ?ﬁﬁzmwﬁlﬁ
50'}6’ ZﬂAHBW?Skm/hdﬂuldﬁaﬂ?ﬁﬁ,w
29 29 B § A 9% 85km/h @i W1 H HAewdl #
foem | 3 fuse ugel a9 291 & &@ra & g (T
o) = Er?

D

SSC CGL 21/04/2022 (Shift- O1)

(a) 5 \(bY 8

(c) 10 (d) 6



. speed of 72 km/h was 4 2 km behind the bus.
1:30 132 8is 5"5At 8:15 a.m. the car was 15.8 km ahead of
18 the bus. What is the ratio of the speed of the

Deay = J2XUZ 3 :- car to the speed of the bus?
~COy s 6% ¢ % .E |

Q Scay - Sgug |
183> . '3 %SC Phase IX 2022
- e \19/{7:17 (b) 9:5
§1|1ﬂ%3 (c) 9: 4 (d) 36: 17



1S Sewnds 71. The driver of a car, which is travelling at a
speed of 75 km/h, locates a bus 80 m ahead

|SSecond of him, travelling in the same direction. After
Y- ot yom 15 seconds, he finds that the bus is 40 m
Bom Or—;-—) behind the car. What is the speed of the bus
25 i ?
| D=3EXG X 5 (inkm/h) e =
.42’9_ 75 Terdi/ 92T &t =Tl | o1 @1 & &1 =Aleieh, 80
-(Bl2cm et A gu fEum o oS @ Us 99 @ 9@ gl
15 Wehe a9 9¢ 2@aT ¢ T a9 3@ & § 40
" 8o+x+40 =312 ¢ et e €1 "9 W ure (Tt e o) feadt 872
=) A= Qo o SSC CGL MAINS 03/02/2022
" (a) 44.2 (b) 42.5
o S 1. (c) 47.5 ud) 46.2
By < %x 1§ ©
"'--..__. ::
pAEC A ¥ Qi)
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140

|

8

72. The distance between two places A and B is 140

km. Two cars x and y start simultaneously from
A and B, respectively. If they move in the same
direction, they meet after 7 hours. If they move
towards each other, they meet after one hour.
What is the speed (in km/h) of car y if its speed
is more than that of car x?

A 3T B W& I El & @ra & 7 140 km
£l x 3T y A0 I HT FHUI: A 3T B H UH
WY T W it &) Afg F uwm & favm A werd
g @ a7 92 A UH-gW H fuedr € afs @
UH-FHT &I AT Feadl & a 9 1 92 a1 Uah-g
¥ fuedt €1 afz &7 y &1 ota &7 x 9 afus §
Al & y @&l o (km/h o) fwast g2

(a) 60 (b) 100

(c)80 (d) 90
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- :,ﬁg_ 20 72. The distance between two places A and B is 140

/‘Y km. Two cars x and y start simultaneously from

A and B, respectively. If they move in the same

8*1 . -'-T-O- direction, they meet after 7 hours. If they move

towards each other, they meet after one hour.

fx_-;m 60km| h What is the speed (in km/h) of car y if its speed
_x is more than that of car x?

:_@f/:eo‘(m,h A 3T B W& I W & e & 0 140 km

£l x 3T y O I HW HUI: A 3T BH UH
WY T IR Al £ afg F um & fayn A =
g a7 92 ag uH-IWT A fuedr ¥ afz 4
U&H-FHT &l 3T Tordl & @ 9 1 92 a9 Ush-g8l
# faerdt &1 afs &7 y &1 91a &7 x W ofuw #
a1 & y &1 ued (km/h W) fwas &2

SSC CGL MAINS 03/02/2022

\(3760 (b) 100

(c) 80 (d) 90
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_ alh .
G -5y = UBXIO 73

.

5
S, 455 = U5 X6T = 100 kmih
St
5

S\= g 551mlh

A~

BY ADITYA RANJAN SIR

Places A and B are 45 km apart from each other.
A car starts from place A and another car starts
from place B at the same time. If they move in
the same direction, they meet in 4 and a half
hour and if they move towards each other, they
meet in 27 minutes. What is the speed (in km/

h) of the car which moves faster?

W A 3T BU& 0T ® 45 fadi &7 3 w
fraa %) W A 9 US HT TAAT IE HAl 2
3T I TG W B H gHA & T IH &HIAl
£ afz 9 wu= faom ¥ 9o €, 94 W@ 9N
2 o fuedt & 3T afa @ us I|T &7 AT T
g, @ @ 27 fuaz o fusdt €)1 a9 wed arelt &
& ure ( fedt/ =2 o) Fma &)

(a) 50 (b) 45

\M/SS (d) 56
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A = ¥ e » 74. A train leaves a station A at 7 am and reaches

v < 8| 0D 1(:00 another station B at 11 : 00 am. Another train
¥ _:;%0 -8 1m é% leaves B at 8 am and reaches A at 11: 30 am.

The two trains cross one another at

Distance @quag7aﬁﬁ9ﬁAﬁﬁWﬁ%3ﬁTﬂ:oo

"ﬂtml
>@lu‘n a9 9E LYF B W UETdl ¥ U 31 27 A 8 &
nlh B ¥ fHeherd € 31T 11: 30 a1 A W Ugel g1 F1 24

2T 4, U T H TR W U w87
,Le"g ‘-‘-% (a) 8:36 a.m. (b) 8:56 a.m.
‘iv&xso (c) 9:00 a.m. \(d)9:24 a.m.
‘h an‘nm
by T
£

Tay
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n.Skm su-smb\ 75. A train leaves station A at 8 am and reaches
station B at 12 noon. A car leaves station B
ﬁD 8:20 ’%;EJ at 8:30 am and reaches station A at the same
[2:0V 8:30 ‘time when the train reaches station B. At what

= 88ktm —
time do they meet?
by dkmih Uw TeTEl, g 8 @9 2y A § Taaerdr §
L hy &)Bmm 'FZ{ us

2 (min FUET 12 & LY B U ugwdt ¢ U@
Jc:alqs_ szsom!%mBﬁﬁma?ﬁ?:aﬁT@sﬁAm
E‘xlof%hv IHt WYY Ugwdl § W& IermEl 2y B WP g
’ —'LJ%}J\V Z1 3 us-gut | fow wwa faedr €72
’hr SSC CGL 16/08/2021(Shift- 02)
3, - ‘ga%%( M (a) 9 : 38 am (b) 10 :22 am
| 39 ~ iy W \(c)"10 : 08 am (d) 9: 52 am
- el
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Ram starts from point A at 8 a.m. and reaches

A 2%)0 point B at 2 p.m. on the same day. On the same
@ day, Raju starts from point B at 8 a.m. and
60V - reaches point A at 6 p.m. on the same day. Both
6hr Skl h 301m points A and B are separated by only a straight

[Ohy Sl line track. At what time they both meet?

™ fag A 9 8 a.m. U7 TEAT I[E® Hal £ 3T
- 'S=33—hf‘3h§)(j;{)mﬁ?ﬁl—_d'5ﬂ?2pm Ut ugadar g1 39 fa=,

:Bhrqsm-,quaﬁ?'ﬁsam T I Y® &Il & 3
8:o0 3dt fa7 fag A 9T 6 p.m. T UEwar ¥ AN
‘3}{8_ fag A 3T B @aa ua @it Tar aa 2w g
s qow fau o &1 d A faE a frew 87

~ SSC CGL 12/12/2022 (Shift- 03)
\ (31 11:45 a.m. (b) 9:42 a.m.
(c) 10:42 a.m. (d) 12:42 p.a.
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77. A car starts from point A towards point B,

1
travelling at the speed of 20 km/h 1 > hours

later, another car starts from point A and
travelling at the speed of 30 km/h and reaches

1
25 hours before the first car. Find the

distance between A and B.
UF & fag AW fag B &1 3T 20 km/h

mﬁwqﬁm%ul

°Z arg, I
fag A ¥ wi= Tt € 37 30 km/h &1 W W
ued §U UEel T W 2; U2 Uz ugadl &1 A
31T B & #@ra w1 I FTA A0

SSC CGL 03/12/2022 (Shift- 01
(a) 300 km "l 240 km

(c) 260 km (d) 280 km
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16 19
_eolh  —qs1m)),
B (6 19 C

\_j G0 K.

/3{"“*'- = 1BCkm
© OS" 2 3SX60
_Qlogk‘n
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78. Two trains, running between Bangalore and

Chennai, start at the same time from
theirrespective locations and proceed towards
each other at the speed of 80km/h and 95km/
h. When they meet, it is found that one train
has travelled 180km more than theother.The
distance between Bangalore and Chennai is

Tl ¥ Uah &1 A0d U7 9ol IR widl & 3N e
80 faptdt /2T 3fw 95 fardt /92T &t =&t | U-go
W AT wgAr 1 e foerd & Wwm 9% uE 2H
gai 29 ¥ 180 Tt srfuss I 73 & It gt
£ AeE o O=E & dte @ g9 A srfau

SSC CPO 10/11/2022 (Shift-01)

(a) 1200 km \(P)" 2100 km
(c) 345 km (d) 400 km



6JuUmp S
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A is chasing B in the same interval of time.
A jumps 8 times, while B jumps 6 times. But
the distance covered by A in 7 jumps is the

same as that of B in S jumps. The ratio
between the speeds of A and B is

A THTT HHT A UT B T UST &7 TET 1 A 8
AT FHaAT &, Fateh B 6 A HaAAT ¢ #fehT A g
7 ®al § 79 ® M3 g1 Stk TG ¢ A B gAT 5
®al ¥ T &® AT §1 A W B & ATEN & A
ATUTd AT |

SSC CGL 08/12/2022 (Shift- 01

(a) 32: 24 (b) 30: 56
(¢) 20: 21 (d) 28 : 36



A B
- BX T
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BY ADITYA RANJAN SIR

A is chasing B in the same interval of time.
A jumps 8 times, while B jumps 6 times. But
the distance covered by A in 7 jumps is the

same as that of B in S jumps. The ratio
between the speeds of A and B is

A TUTT G99 3Tl T B T UIST T TET E1A 8
AT FHAAT &, FaAleh B 6 AT HAAT ¢ TfehT A g
7 ®al § 79 ® M3 g1 Stk TG ¢ A B gAT 5
®al ¥ T &® AT §1 A W B & ATEN & A
ATUTd AT |

SSC CGL 08/12/2022 (Shift- O1

(a) 32: 24 (b) 30: 56
(¢) 20: 21 (d) 28 : 36



D i
b ot )
25 L as
llom ™
+t= 198x7 =
63-59)
hu.q\w b\}duci :

80. A dog chases rabbit. The rabbit is 125 leaps
~ahead of itself jumps from dog. The rabbit can
jump 4 times in a time in which the dog can
jump 3 times. The distances covered by the
rabbit and the dog in one jump are 1.75 and
2.75 m respectively. In how many jumps the

dog will catch the rabbit ?

Ush AT TWATIYT ST GrST wTar §1 WY e | 125
TA TRt 3T fHaer Srar 1 @y e a4
AN #HE Tl ¢ 99 e 3 AW ¥ ®E wawhar g
WIMYT HIT HIT T&H DATT H  HAI:
'7559Cm&,1753m275nm6ﬁf§ﬁmw%%laﬁnﬁm=ﬁ

AT | @ENYT &l GRS T2
(a) 175 (b) 350
(c) 525 (d) 700
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Two boys begin together to write out a booklet
containing 819 lines. The 1* boy starts with

the first line writing at the rate of 200 lines
an hour and the 2" boy starts with the last
line then writes line 818 and so on. Backward
proceeding at the rate of 150 lines an hour.
At the end of which line they meet.

819 TEAl aATell Ush dahele @ & fow a1 s
U& WIF IIE Ed &1 UEEN TRl Uah "¢ W 200 &g
& ATl W ugedt onga feram vrw @A ¥ 3w
g aifaw ufvr & W9 oE @ € 3iw fer e
818 formar & 3T U & 3m o wia w2 150 =g
w O § Uie | e wrer 2w 9 3| o few e
gt faem 87

(a) 467 \(by 468

(c) 470 "(d) 475
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(32:6) (11-5)
AR T*T m
_m+ m

&AM =35 115
Eﬂ:ﬂ-Sj

/; \
= LA

A ' Aq ~

\ /
| Q)(?Q.%

— 35S N

\ (2] 130 min

BY ADITYA RANJAN SIR

82. Dipak goes to his office covering half of the
= S50min distance by auto and rest by metro. Total time

taken by him to cover complete distance is 50
min. If he covers complete distance by metro,
it would take 35 minutes to reach the office.

On a particular day he goes to his office and
returns by auto, find total time taken in
complete journey.

due 1A ATfRE w9 o amsf g e ¥ 3w v
T WS W T HAA E) 3% /A g 99 wA U 50
faz oen €)1 afe 9T @9l g8 WSl 9 a9 A a9
At 35 fome o wgwr wmom faedr faviw fa= =@
HITHA 3772 | AT € 3017 a9y 3mar €1 W9ui I
o 39 g e e wua @ra @it

(a) 110 min (b) 120 min
(d) 140 min



83.

Ravi travels 300 km partly by train and partly
by car. He takes 4 hours to reach. If he travels
60 km by train and rest by car. He will take 10
minute more if he were to travel 100 km by train
and rest by car. The speed of the train is

th 60m'1|q
e
= %60
.

fa sufores ®9 ¥ 29 g i onfvres w0 ¥ &
g 300 fepedt @it arar &var ) 3W Arar gt wA U 4
e W A9a @ €1 Ifg @ 29 | 60 fadt @ @
T ¢ 3T 99 G @I W war g1 i °9g 29 A
100 fardt &t = &var & 3T 99 IGrEr I I
£ oAt 3w 10 fime sifus wwa wm 2w i
T AT |

(a) 50 km/h Mkm/h

00 km/h (d) 120 km/h



mm

Qhy 10 Min

Shy
—

ST:% 60 tmlh

83. Ravi travels 300 km partly by train and partly
by car. He takes 4 hours to reach. If he travels
60 km by train and rest by car. He will take 10
minute more if he were to travel 100 km by train

(ominX6 Tand rest by car. The speed of the train is

=1bY T ifg anfores ®a & 37 g i anifores w9 |7 &w
g 300 fepedt @it arar &var ) 3W Arar gt wA U 4
ue W UG o ¥ afg |@w 29 | 60 Tt @t amm
T ¢ 3T 99 G @I W war g1 i °9g 29 A
100 fordt &t arar &Tar & 3T 99 IOrar &I g
wTa & A 3@ 10 e sifuew wwa wrm 3w @
AT AT

(a) 50 km/h Mkm/h

(¢c) 100 km/h (d) 120 km/h



o)

T

84. A distance of 600 Km is to be covered in 2
parts. In 1st phase 120 Km is travelled by

train and rest by car and it took total of 8

hours, but if 200 km is covered by train and

aofﬂiﬂ y 6 rest by car it takes 20 min more. find the avg

8hr 20min = [20minTspeed of car and train ?

IOhy

ST (o0 Fereindter F Ef W 2 W ¥ war e W
T Ugy =wur ¥ 120 feRenrdiET @t Avar 29 g 3
919 ATAT T GRT H AT € 3T 3HU wA 8 WS
g @ €, wifew afe 200 feerdrer & g6 29
BIT @9 & ATt § 37 VY T wIw gET 99 @ Sl
T o zad 20 fusz arfus g over 81 W 3T 29
&t 3itaa nfa Fra w12
M&eom/h (b) 90 & 60 km/h
(c) 120 90 km/h  (d) 120 & 100 km/h
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85. A man travels 400 kms in 4 hours partly by air

QiT 9 400km 2hr and partly by train if he had travelled all the
4
Sa 7 ’% 200kmlh & way by air he would have saved s of the time
Q he was in the train and would have arrived his
1 X%=2‘F\1’ destination 2 hrs early. Find the distance he
S ds SShe travelled by train.h \
(v amadt 400 feweindrer =i uﬁn,n’ 3T
W ®Y ¥ A3 WETH g 3T 30 ®9 | 29 g 99
. Y 5 . B Aa ~ 2 =
——\m—ta—rqhvmzu&a@w@mnmwmzmw
’2}00\(“\ S0l .
. —" 1 \ R
29 | &M HHd @6 5 T 3 AE U Taed 2
__-_-___-'h
U2 Foedl Ugd Wl 29 g a9 @i W A AT H
(a) 95 km (b) 85 km

(c) 90 km (d)”100 km
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Buses are leaving bus terminal after every 10 minutes
(T,) But, a person who is moving towards the terminal
meets the bus after every 8 minutes (T,).

yes 10 foe (T)) a2 o aw zfiqe ¥ e &
TR, Uk Ak A ZTHAe 1 3T a2 78T & 9% &7 8
fiz (T,) & @e a9 | fuear 2

Speed of man [T, - T,
Speed of bus Ta

Speed of Train _|T, - T,|
Speed of Sound 1

Here, /92T,

T, = Time after which buses leaves the terminal.
T, = w9 faws @k ad zfiqa 9 fFHawed #

T, = Time after which it meets with the person.
T, = "ua faues aT ad =afqa 9 faerd 2
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o s | ,;2_/? Buses start from a bus terminal with a speed
Smon = [N [ = Z Y of 20 km/hr at intervals of 10 minutes. What
Sgus | ‘2 is the speed of a man coming from the

opposite direction towards the bus terminal if
he meets the buses at intervals of 8 minutes?

552'3,,:}'( 2 Sm= Skolh g gq zfifge ¥ 10 fiuse & aiave w20 fadt e
& e W Fraedr 81 a9 Zfi=we & i fauda faon
W 3 a1l Ak i d o1 & 9f a8 8 fie &
AT UT a9 | Toerar g7
(a) 3 km/hr (b) 4 km/hr
ka/hr (d) 7 km/hr
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£ ﬂ | 87. Two buses start from a bus te?ninal with a

S5, '/ '1_ 2{ = }g 9 speed of 30 km/h at interval of' inutes.
56 = What is the speed of man coming from the
opposite direction towards the .Pus terminal if

2 %: ’——é_ = Sm=I1Skmlh  he meets the buses at interval onutes?
S Ush ad Zfiae | 21 a9 15 fqe & afaue uv 30

fertdt /ger &t i | =rewt ) faudta faum & a9 zfiaa
& 3T 3 are Al &t Wfa F=n § afg ag 10
fime & 3fater T =@t 9 fueEr 872
\(af 15 km/h (b) 12 km/h

(c) 20 km/h (d) 10 km/h
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.‘i 88. The buses are departed after every 20 min, but
296

- man going away from the bus depot after every

Sm -
Sg 24 min get the buses. Find the speed of buses
if the speed of man is 30 Km/Hr.

3 % =_| vaE @0)fre & @R | @ Tar fa W
sg 6 afe w4z & @ am feur & g7 9w ar
D S8=180 a9 AT Wl UW KT o4t g1 gfe &t wfa 30
fartit /2T & & @@t & WA ATA HL
(a) 120 km/hr (b) 150 km/hr
180 km/hr (d) 210 km/hr
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Sé

- ,Lq,.g 25 the passenger in the train hears the sound of
second gun after 12 minute 30 seconds of the

66 first. If the speed of sound is 330 m/s then

S . X330 an|s - the speed of train was [2-S amin

' 2a, " @fee & s w A dgE A #) At

" S1: 66 x1 tmlh 2§ arft el ag® & am W # (2_fawe 39

S S UHhe & a8 Il dga &l AErd gAar g1 afg @f
hﬁwﬁruo:ﬂax@a%%ﬁréﬁﬁﬂﬁmaﬁl

St = , T.-Ta / : Qﬁ | 89. Two guns are fired at 13 minutes interval. But

. .ng__@_trnlh = Qq%m,

S 13 13
1T — 45 —
(a 25 km/hr (b) 5s km/hr
13 25
42 — 44 —
(c) 55 km/hr (d) 13 km/hr



90. Two guns are fired from the same place at an
Smon = |T,-Taf _ ﬁ_L interval of 6 minutes. A person approaching the
Sed | T2l 359 49 place observes that 5 minutes 52 seconds have

sound elapsed between the hearings of the sound of the

two guns. If the velocity of the sound is 330 m/

Sman - qqug3° s sec, then at what speed the person was

approaching that place? __Ti gyg0=260
:i’fgx&quh aﬁaﬁﬁaﬁ@ﬁmﬁa‘)&(ﬁaﬁamm
W Z m%umwﬂaﬁaﬁ?aﬁlm_r@aﬁﬁ?%%
Ao ﬁa“ra‘{ﬁﬁmqﬁ%ﬁ +
:Q—,m,b &1 At &1 afz sty & =er 330 @9 €, af 98
=t frm 7ifa ¥ 39 T & 31T 31 8T 91?
(a) 25 km/hr by 27 km/hr

(c) 36 km/hr ) 30 km/hr



